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Sample Paper – 2012
Class – XII
Subject – Chemistry

1. Which of the following has higher freezing point? 0.1 molal Aluminum chloride    

    Solution or 0.1 molal Potassium chloride solution? Why?



  1

2. Mention one similarity and one difference between fuel cell and other primary     1

    Cells.


3. What are Secondary cells? Give one example.




  1                    

4. Give the IUPAC name of the compound





  1 

     CH3-CH=C(CH3)CHBrCH3
5. HCl can’t be used as acid medium in volumetric titration between KMnO4 and     1

     FAS. Why?

6. What are Co polymers? Give one example.



                        1   

7. Write the structure of 1-Phenyl propan-2-ol                                                            1

8. Give a chemical test to distinguish between Methanamine and Aniline.                 1

9. Explain the type of deviation shown by a mixture of Phenol and aniline with a

    Suitable graph.                                                                                                        2

10. Mention two applications of Henry’s law.                                                              2
                      

11. Complete the following reactions:
      2

       i) NaCl+H2SO4(conc)+MnO2→

       ii) Ca3P2 +H2O  →

12. Complete the following reactions in aqueous medium:
2


     i) MnO4- +C2O42- +H+→

     ii) Cr2O72-+ Fe2++H+ →

13. Complete the following reactions                    
2

      i)  CH3CH=CH2+HBr    →

     ii)  (CH3)3C-Cl +C2H5ONa →           

1

14. Explain the mechanism of the reaction
2

                                H2SO4                  

[image: image1.png]       2 CH3CH2OH                      CH3CH2OCH2CH3+H2O

                                    413K

15. Distinguish Chemically between                                                   
2

      i) Pentan-2-one and Pentan-3-one ii) HCOOH and CH3COOH

16. Identify the compounds A,B,C and D in the reaction
2

    A                      B                    C     
D                   C6H6
       NaOH +Br2         NaNO2+HCl     H2O                Zn dust

                                   273 K              (Warm)

17. Mention two properties of glucose which can’t be explained by its 
2

      Open chain structure.

18. Write the structure of monomers of polymers
2

      i) Nylon-6,6 ii) Dacron

OR

    Mention 2 uses each of the polymers I)PVC ii) Bakelite.
2

19. Calculate the boiling point of 1Molar KCl solution. 
3

      Density of KCl solution= 1.04 g/ml. Molar mass of KCl= 74.5

      Kb=0.52KKgmole-1. Assume KCl is 90% dissociated.

20. What is Lanthanoid contraction? Mention two consequences of Lanthanoid    

             contraction

3

21. Draw the structures of i) H2S2O8 ii) ClF3 iii) XeOF4
22. Account for the following:

3

     i) Transition metal exhibits variable valency

    ii) With the same d4 configuration Cr(II) is reducing while Mn(III) is oxidising.

2

   iii) Co(II) is easily oxidised to Co(III) in the presence of a strong ligand.

23. Describe the state of hybridisation, shape and magnetic behaviour of
3

       i) [Co(NH3)6]3+ ii) [NiCl4]2- iii)[Co(en)2Cl2]+ 

         Atomic number Co=27 Ni=28

24 i) An organic compound C7H15Br is optically active. It reacts with aqueous KOH 

    to give racemic mixture. Explain the mechanism of the reaction.                     (2+!)


   ii) Which is more reactive in SN1 reaction CH3Br or CH3I? Why?. 

25. Carry out the following conversions:

3

     i) Propene to Propan-1-ol

    ii) Methanal to Benzyl alcohol

    iii) Phenol to 2-Acetoxy benzoic acid.

26. Give one example each of

3

     i) Sand Meyer reaction

    ii) Coupling reaction

   iii) Gabriel Pthalimide synthesis.

27 i) What are nucleic acids? Mention 2 functions of Nucleic acids.                     (2+1)

     ii) What do you mean by native state of protein?

OR

    i) Explain the statement that the two strands of DNA are not identical but       (1+2)


        complimentary to each other.

    ii) Explain peptide linkage with an example.

28. A voltic cell is set up at 298K using Ag+(0.1M) and Cu2+(0.1M)                   (3+2)

      E0 Ag+/Ag= +0.80V E0 Cu2+/Cu=+0.34V

      i) Write the equation of the reaction involved at each electrode.

     ii) Determine the potential of the cell at 298K

3

OR

   i)Three electrolytes A,B and C containing solutions of  ZnSO4 , CuSO4 and (3+2)

     AgNO3  were  connected in series. 1.5 grams of Ag deposited  by passing 1.5 
    amperes. How long did current flow? Find the mass of copper and zinc deposited. 

       ( Atomic mass of Cu =  63.5, Zn = 65.5)
  ii) Write the equation of the reaction involved at each electrode in Lead storage cell   

           when battery is in use.

29. Account for the following:







5

      i) Sulphur in vapour state is paramagnetic in nature.

      ii) PCl5 solid is ionic in nature.

      iii) Among Hydrogen halides, HF has the highest boiling point and HCl has the                         

           lowest boiling point.

      iv) Xenon forms compounds only with Oxygen and Fluorine only.

      v) SF6 is known and SH6 is not known.

OR

            Account for the following:







5

            i) Oxygen has lower negative value of electron gain enthalpy than Sulphur.

           ii) All five bonds in PCl5 are not equivalent.

           iii)  Inter halogen compounds are more reactive than halogens from which   

                they are formed.

            iv)  SF6 is chemically unreactive.

           v)  XeF is not known

.

4

30 i)   An organic compound A contains 69.77% Carbon, 11.63% Hydrogen       (3+2)        

        and the remaining Oxygen. Molar mass of the compound is 86u.  It does not     

       react with Tollens reagent, forms an addition compound with NaHSO3 and    

        responds to iodoform test. On vigorous oxidation it gives ethanoic acid and   

        propanoic acid. Derive the structure of the compound A.

    ii) Account for the following:

        a) α- Chloropropanoic acid is more acidic than β- Chloropropanoic acid.

        b) HCHO does not undergo Cannizaro reaction.

OR

  i) Carry out the following conversions:




                  (3+2)

      a) Benzoyl chloride to Benzaldehyde

     b) Ethanal to Butan-1-ol

     c) Toluene to Benzaldehyde.

ii)  Complete the following reactions by giving missing reagent, reactant or product.

   a)                                     
COC6H5
                                      + …?…………                                          
                                                           Anhydrous  AlCl3
 b)       CH3CHO+NH2NHCONH2                               ?                 
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